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1. Give a brief account of the linkages between

population and environment. 10

Or

What is environmental impact assessment?

State and explain the different stages of an

environmental impact assessment. 3+7=10

G7/372a ( Turn Over )

( 2 )

2. Fully describe the characteristics of

underdevelopment. 10

Or

Define poverty. Explain the concept of

absolute poverty and relative poverty. 2+8=10

3. Define human development index (HDI). Give 

the methods of construction of human

development index. 5+5=10

Or

Examine the impact of population growth on

environmental quality. 10

4. Explain the various policy instruments for

environmental protection in India. 10

Or

Discuss the Water (Prevention and Control of 

Pollution) Act, 1974 and point out how far it

is successful. 6+4=10

5. What do you mean by sustainable

development? Discuss the various indicators

of sustainable development. 3+7=10

Or

Discuss different methods used for

environmental valuation. 10
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( 6th Semester )
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NINTH PAPER

( Environmental Economics )

( PART : A—OBJECTIVE )

( Marks : 25 )

The figures in the margin indicate full marks for the questions

SECTION—A

( Marks : 10 )

Put a Tick (3) mark against the correct answer in the
brackets provided : 1×10=10

1. If A imposed externality on B and B has not imposed
externality on A, then the externality is

(a) unidimensional   (  )

(b) bidimensional   (  )

(c) multidimensional   (  )

/372



2. According to Myrdal, economic development is

(a) all round development   (  )

(b) growth in per capita income   (  )

(c) the upward movement of the entire social
system   (  )

3. One of the main causes of market failure is

(a) overpricing   (  )

(b) underpricing   (  )

(c) inflation   (  )

4. “Earth has enough to cater to our needs, but it surely 
will not put up with our greed.” Who said?

(a) Bill Clinton   (  )

(b) Mahatma Gandhi   (  )

(c) Narendra Modi   (  )

( 2 )
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5. In the year 2013, the demographic stage of India was
in its

(a) first stage   (  )

(b) early part of second stage   (  )

(c) later part of third stage   (  )

6. It is estimated that by 2025 AD water scarcity will be
faced by

(a) 3·8 billion people   (  )

(b) 2·8 billion people   (  )

(c) 1·8 billion people   (  )

7. Who constructed a composite physical quality of life
index in 1979?

(a) J. K. Mehta   (  )

(b) D. Morris   (  )

(c) David Ricardo   (  )

( 3 )
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8. Absolute poverty in India takes into account

(a) gross enrolment ratio   (  )

(b) caloric criterion   (  )

(c) adult literacy   (  )

9. The Ministry of Environment and Forests started a
scheme called, ‘Paryavaran Vahini’ in 1992 with a
view to create 

(a) flood control measures   (  )

(b) earthquake awareness   (  )

(c) environmental awareness   (  )

10. If the use of technology has brought down cost to
other producers, there occurs

(a) negative externality   (  )

(b) positive externality   (  )

(c) None of the above   (  )

( 4 )
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SECTION—B

( Marks : 15 )

Write short notes on the following : 3×5=15

1. Linkage between common property resources and
the poor

( 5 )
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2. Impact of poverty on environment

( 6 )
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3. Major causes of underdevelopment

ECO/VI/09/372
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4. Forest Conservation Act, 1980

ECO/VI/09/372
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5. Pollution control system
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for the questions

Answer one question from each Unit

UNIT—I

1. (a) What do you mean by central tendency? 3

(b) Compute the mode from the following

data : 7

Size Frequency

90–100 10

100–110 37

110–120 65

120–130 80

130–140 51

140–150 35

150–160 18

160–170 4

G7/373a ( Turn Over )

( 2 )

2. An analysis of the monthly wages paid to

workers in two firms A and B, belonging to

the same industry, gives the following

results :

Firm A Firm B

No. of wage earners 105 100

Average monthly wages 210 200

Standard deviation 10 11

Find—

(a) in which firm A or B is there greater

variability in individual wages;

(b) combined mean;

(c) combined standard deviation. 2+3+5=10

UNIT—II

3. Discuss the properties of Poisson

distribution. 10

4. (a) State and prove the multiplication

theorem of probability. 6

(b) A bag contains 5 white and 10 red balls. 

Three balls are drawn at random. Find

the probability that all the three balls

are red. 4

G7/373a ( Continued )



( 3 )

UNIT—III

5. Calculate the coefficient of rank correlation

between X and Y :

X 36 56 20 65 42 33 44

Y 50 35 70 25 58 75 60

Comment on the relation between X and Y

series. 8+2=10

6. Construct two regression equations and

estimate the value of Y when X = 10 by using

the following data : 8+2=10

X Y

Mean 35 40

Standard deviation 6 8

Correlation coefficient between X and

Y is 0·8.

UNIT—IV

7. What is index number? Calculate Fisher’s

ideal index for the following data and show

that it satisfies the time-reversal test :

2+4+4=10

Base Year Current Year

Item Quantity Price Quantity Price

A 5 5 6 30

B 4 8 5 10

C 3 12 4 8

D 8 4 7 12

G7/373a ( Turn Over )

( 4 )

8. Fit a straight line trend by least square

method. Also estimate the likely production

for the year 2017. 8+2=10

Year Production (in tonnes)

2008 24

2009 25

2010 29

2011 26

2012 22

2013 24

UNIT—V

9. Compute the crude and standardised death

rates in two cities from the following data and 

find out which population is healthier:

4+4+2=10

Age City A City B

Population Death Population Death

0–5 15000 400 20000 420

5–40 20000 300 30000 450

above 40 10000 240 15000 300

10. Write short notes on the following : 5+5=10

(a) Infant mortality rate (IMR) and maternal 

mortality rate (MMR)

(b) Gross reproduction rate (GRR) and

crude rate of natural increase

H H H
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ECO/VI/10

2 0 1 7

( 6th Semester )

ECONOMICS

TENTH PAPER

( Quantitative Techniques—II )

( PART : A—OBJECTIVE )

( Marks : 25 )

The figures in the margin indicate full marks for the questions

SECTION—A

( Marks : 10 )

Put a Tick (3) mark against the correct answer in the
brackets provided : 1×10=10

1. 3 Median is equal to

(a) 2 Mean   (  )

(b) 2 Mean – Mode   (  )

(c) 2 Mean + Mode   (  )
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2. In a positively skewed distribution

(a) Mean > Median > Mode   (  )

(b) Mean < Median < Mode   (  )

(c) Mean = Median = Mode   (  )

3. In probability theories, events which can never occur
together are classified as

(a) collectively exclusive events   (  )

(b) mutually exclusive events   (  )

(c) independent events   (  )

4. The mean of a binomial distribution is given by

(a) np   (  )

(b) npq   (  )

(c) npq    (  )

( 2 )
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5. Corelation between income and demand is

(a) zero   (  )

(b) positive   (  )

(c) negative   (  )

6. The two regression lines intersect each other at the
point

(a) ( )X Y,    (  )

(b) ( )0 0,    (  )

(c) ( )X Y,    (  )

7. Laspeyres’ index formula uses the weight of the

(a) base year   (  )

(b) current year   (  )

(c) None of the above   (  )

( 3 )
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8. P0 indicates

(a) price of the base year   (  )

(b) price of the current year   (  )

(c) price of the last year   (  )

9. The value of NRR > 1 will result into

(a) increase in population   (  )

(b) reduction in population   (  )

(c) constancy in population   (  )

10. Theoretically the net production rate can range from

(a) 0–5   (  )

(b) 8–15   (  )

(c) 15–20   (  )

( 4 )

ECO/VI/10/373



SECTION—B

( Marks : 15 )

Answer the following questions : 3×5=15

1. Define primary and secondary data.

( 5 )
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2. What is meant by independent events?

( 6 )
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3. What is multiple correlation?

ECO/VI/10/373

( 7 )



4. What are the various methods used for determining
trend?

ECO/VI/10/373
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5. The mid-year population and number of birth
registered for town A are 30000 and 750 respectively. 
Calculate the crude birthrate.

H H H
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